Air Springs sales department
Ceskych bratif 338

547 36 Néachod

Czech Republic

Tel.: +420 491 447 410

Tel.: +420 491 447 100

Tel.: +420 491 447 521

Fax: +420 491 447 109

Fax: +420 491 447 411
E-mail: avs@rubena.cgs.cz

For more information on all Air Springs, Couplings, Compensators, \Washers visit:

Made in EU (Czech Republic)

‘R Rubena

x
[5]
O
[}
5
=
wn
©
§
2
©
c
()
Qa
=1
x
=
=
2
©
el
=)
o
=
o
L0
o
o
<
<
I
o
QY
N
O
<
04
~
)
(O]
L&)
)

“‘ “b_&“ i . e

AIr Springs
Couplings / Compensators / Washers

Vzduchové pruzeni
Spojky / Kompenzatory / Podlozky

Cn/1bOHb!
CuenneHune / KomneHcaTopsbl / [NoacTaBku

PRODUCTION PROGRAM

‘R Rubena




TRADITION / QUALITY / RELIABILITY = CONTENTS @Rllbella

Tradition / Quality / Reliability Contents / Obsah / Conep>xaHue
Leading European rubber manufacturer with 100-year tradition. Reliability and top quality
of our products conform to international standards certified by SGS Curych.

Tradice / Kvalita / Spolehlivost

Predni evropsky Vyrobce gumérenské produkce se 100letou tradici. Spo|eh|ivost a VySOké girgprinﬂs ..... SRR R R R R SRR LR T LR L LR CRTCRT SRR SRLIRRRPRTEE 3
; A S "y ‘oz . ° : . ASICS CAMACTENISTICS . . ...\ttt ettt e ettt e e e e e e e e
kva“t?, Vyra[,)ene prOdUkce OdeVIda T AR U SO Cemﬁkovanym Air Springs Design Line RUBEN A . ... e e e e 9
spolecnosti SGS Curych. Air Springs Design Line DUNLOP . ... ... oo 21

Tpa,EI,I/I LLNA / KauectBo / HG,EI,G)KHOCTb coupnes

13BeCTHbLIN €BPOMNENCKNI MPON3BOAUTED PE3NHOBLIX N3aennn co 100—neTHen Tpaguumen. RUBDEr hOOPS FOT SHAMt COUDINGS v v v v oo 0
Hane>XXHOCTb 1 BbICOKME KAYETBO BbIMyCKaeMo NpOAyKLUM COOTBETCTBYET EXAyHapOAHbIM
CTaHaaTtam, cepTudurumpoBaHHbiM 06LecTBom SGS Curych.

RUDD I COMPENSALONS ..ttt et e e e e e 47
WASHERS
Elastic pads Design LINE VOSSION . . . ..o e 51

VzZAUChOVE PruzZiny (VINOVCE) ..ottt et et e e e e e e e e e e e e e e 5
ZakKladni charakteristika . .. ..o 7
Produktova Fada vInovel typu RUBENA ...t 9
Produktova Fada vInovel typu DUNLOP .. ..o e e e et e e 21

PryZové obruce pro hifdelove SPOJKY ... ...t 43

Py ZOVE KON ZA O Y . .t o ettt et e et et e et e e e e e e e e e 47
PODLOZKY
Pruzné podloZKy typu VOSSION . . ... 51

MMHeBMATUUECKNE MPYXKUHBI (CUMBMIOHDBI) - . .t ettt ettt e et et e e e ettt e et et e e e et e e e e aeees 5
OCHOBHAS XGPAKTEPUICTUKA - -« e et e et ettt e et et e et e et e e e e e et e e e et e e e e et e ettt e e 7
MHeBmaTnueckne npy>kuHbl TNa RUBENA . . e 9
MuesmaTtryeckune NpyxmHbl TNa DUNLOP ... e 21
Pe3rHoBble 6aHOaXMN O/ COEANHNUTEMBHBIX MYMT .\ttt et ettt e et et e e e et e e e e e eeaes 43

PE3NHOBBIE KOMMEHCATOPDBI .« v vt vttt et et et et et et e e e e e et e e e e e e e e e e e e e e e e e e e et e e e anens 47

NMnoAaCTABKWU
Ynpyrble noactaBk TUMA VOSSLOH . ... 51




AIR SPRINGS ' AIR SPRINGS

THE BELLOWS SPRING TYPE IS INTENDED FOR ELASTIC BEARING OF MACHINES AND
INSTRUMENTS, TO ELIMINATE VIBRATIONS AND IMPACTS AND, ON THE CONTRARY,

TO GENERATE VIBRATIONS AND LIFT OBJECTS. IN GENERAL, IT IS ABLE TO CARRY OUT
WORK BY A DEFINED FORCE ALONG A DEFINED TRAVEL — see basic technical parameters.

VLNOVCOVY TYP PRUZINY JE URCEN PRO PRUZNA ULOZENI STROJU

A PRISTROJU, K ELIMINACI VIBRACI A RAZU, NAOPAK PRO GENERACI VIBRACI
A K ZVEDANI PREDMETU. OBECNE JE SCHOPEN VYKONAVAT PRACI URCITOU
SILOU PO URCITE DRAZE - viz z&kladni technické parametry.

MHEBMATUYECKASA MO ABECKA NMEPBNYHO HASHAYEHHAS O19 YIIPYT OV

OMOPbLI MALLIH X MHCTPYMEHTOB, 191 YCTPAHEHA BUBPALLIA 1 YOAPOB,
HAOBOPOT A/14 MTEHEPUPOBAHNA BUBPALIN 1 MOABEMA OBbEKTOB. OHO BOOBLLE
CMOCOBHO NCMOMHATL PABOTY OMPEAENEHHOW C10M YEPE3 OMNPEAE/IEHHYH
OOPOIY — cMOTPU OCHOBHbIE TEXHUYECKNE NapaMeTpbl.




AIR SPRINGS ' AIR SPRINGS

‘R Rubena

BASICS CHARACTERISTICS

Air springs are generally designed for many different applications where vibrations and shocks should be eliminated. Examples
include suspensions of bus, truck, troley-bus, tractor, train and tram seats and axles. Air springs are used for resilient mounting of
machines and equipment generating shocks and vibrations transmitted through the foundation into environment (e.g. textile looms,
conveyers, power hammers, forging presses, etc.). They are well suited to insulate laboratory instruments from vibrations. They can
also be used to suspend truck trailers and car caravans. They are in use in pneumatic jacks, e.g. in car repair services. A frequent
application is also as a single acting linear pneumatic motor. In case of any atypic application, we recommend to discuss the
manufacturer first.

The application of air springs in vehicles offers many advantages, among others protection of both a vehicle and a load, reduction
in tyre wear and a lower fuel consumption. A loading characteristic can be easily modified by a change in air pressure inside the spring.
This fact means more extensive applicability as compared to conventional screw springs, e.g. enables to hold stable optimum ve-
hicle height and thus the correct function of headlamps at different vehicle loads. Suspended seats enhance driving comfort in
trucks and tractors. Negligible maintenance costs and a longer service life compared to a conventional suspension give priority to
the application of air springs.

A complete air spring is composed of a rubber-textile bellow, rings among convolutions, two clamping bead rings, a top and a lower
covers in case of a demountable set or secured covers in case of a non-demountable set. Covers and clamping rings are designed
to be fixed to suspended and non-suspended machine or vehicle parts and one of the covers (in most cases the top one) is provided
with an air inlet connection. Detailed information available from the Sales or Engineering departments.

Air springs are mounted individually or in panels in which the needed number of air springs is joined together — as per the suspended
equipment weight. Contact of the rubber-textile wall of the bellow with sharp and hot objects (scales, edges, exhausts, etc.) must
be avoided.

Air springs can be inflated either individually or centrally. It is advisable to connect them to the compressed air source via a control
valve.

Air spring bellows are applicable up to maximum operating pressure pmaxas specified for each size of the bellow. This pressure
is related to a static height Hstat.

The rubber of which the bellow is made is not petroleum product resistant (oil, Diesel fuel, petrol, kerosene, etc.). If contaminated
by any of these substances, please wash it with warm water and wipe dry.

Standard bellows air springs are made of SBR (styrene-butadiene) rubber and are intended for service temperatures between
-50°C and +70 °C. For special applications the bellows, especially Dunlop type bellows, can be manufactured from CIIR (chlorinated
butyl) rubber for service temperatures between -30 °C and +90 °C or from ECO (epichlorohydrine) rubber for service temperatures
between -30 °C and +115 °C. For detailed information contact Sales or Technical department.

ZAKLADNI CHARAKTERISTIKA

Vzduchové pruZiny obecné jsou urceny pro mnoho rliznych pouziti vSude tam, kde je nutné eliminovat vznikajici vibrace a rézy.
Napriklad se m(ize jednat o odpruzeni sedacek a néprav autobust, ndkladnich vozidel, trolejbusd, traktor(, viakovych a tramvajovych
vagoén(. PouZivaji se pro pruzné ulozeni strojl a zafizeni vzbuzujicich rézy a vibrace prenésené zékladem do okoli (napr. textilni stavy,
dopravniky, buchary, kovacf lisy apod.). Jsou vhodné pro izolace laboratornich pfistroj od vibraci. Lze je téZ pouZit pro odpruzenf
nékladnich a obytnych privésd za osobni automobily. PouZivaji se v pneumatickych zvedacich napt. v autoservisech. Velmi ¢asté
pouziti je také jako jednocinny primocary pneumaticky motor. Atypické pouziti doporu¢ujeme nejdrive projednat s vyrobcem.

UZiti vzduchovych pruzin na vozidlech poskytuje mnoho vyhod, mezi nézZ patfi Setreni vozidla i ndkladu, snizeni opotrebeni pneumatik
a nizsi spotreba pohonnych hmot. Zménou tlaku vzduchu uvnitr pruziny Ize snadno ménit zatézovaci charakteristiku. Tato skute¢nost
poskytuje Sirsi pouZiti oproti klasickym Sroubovym pruzindm, napr. umoZzriuje zajistit stalou optimalni vysku vozidla a tim i sprévnou
funkci svétlometl pri rizném zatiZeni vozidla. Odpruzené sedacky zvysuji jizdni komfort nékladnich vozidel a traktor(. Nepatrné

néklady na udrzbu a delsi Zivotnost nez ma obvyklé pruzeni uprednostriuji pouZziti vzduchovych pruzin.

Kompletni vzduchové pruZina se sklada z pryZotextilniho vinovce, z krouzk mezi vinami, z dvou upinacich patkovych krouzkd,
horniho, a spodniho vika v pripadé rozebiratelného kompletu nebo zapertlovanych vik v pripadé nerozebiratelného kompletu. Vika
a upinaci kruhy jsou prizplisobeny k pfipevnéni na odpruzenou a neodpruzenou ¢ast stroje nebo vozidla a jedno z vik (nej¢astéji

Vzduchové pruziny se montuji jednotlivé nebo v panelech, na kterych je spojen potrebny pocet vzduchovych pruzin — dle hmotnosti
uloZeného zafizeni. Pryzotextilni sté€na vinovce nesmi prichdzet do styku s ostrymi a zhavymi pfedméty (okuje, hrany, vyfuky apod.).
Vzduchové pruziny Ize hustit samostatné nebo centrainé. Ke zdroji tlakového vzduchu je vhodné je pripojit pres regulaéni ventil.

ViInovce vzduchovych pruZin Ize pouZit do maximalniho provozniho tlaku pmax, uvedeného u kazdé dimenze. Tento tlak se vztahuje
k statické vysce Hstat.

Pryz, ze které je vinovec vyroben, nevzdoruje ropnym produktim (olej, nafta, benzin, petrolej, apod.). Pfi jeho znecisténi nékterou
z téchto latek je nutno vinovec omyt teplou vodou a otfit.

Standardni vinovcové pruZiny jsou vyrébény z pryZze s SBR (styren-butadien) kau¢ukem a jsou uré¢eny do pracovnich teplot od
-50 °C do +70 °C. Pro speciélni aplikace Ize vinovce zejména typu Dunlop vyrobit z pryZe s CIIR (chlorbutyl) kau¢ukem pro pracovni

prodejnim nebo technickém oddélent.




AIR SPRINGS ' AIR SPRINGS DESIGN LINE RUBENA

‘R Rubena

OCHOBHAA XAPAKTEPUCTNKA

MMHeBMaTNYECKNE MPY>KUHbI BOOGLLE MpeAHa3HaueHbl A9 MHOMMX Pas/IMuHbIX  WCMO/b30BaHWA BCtogy TaMm, rae
MPUXOANTCS YCTPaHWUTb BO3HMKAOLLIME BUGPALLIMA 1 yaapsl. HanpumMep BO3MOXHO yka3aTb NOLpeccoprBaHue CUAEHUA 1 MOCTOB
aBTOGYCOB, FPY30BbIX TPAHCMOPTHLIX CPEACTB, TPONENBYCOB, TPAKTOPOB, MOE3AHBIX N TPaMBaHbIX BAroHOB. OHU NMPUMEHSIOTCS
0N yNpYyron NoABecKM MalUvH U 060pyLoBaHNA, BO36YXOAOLMX yAapbl v BUGpauLMi NepenaBaemMble OT yHOaMeHTa
B OKpyxatoLLyto cpeny (HanpumMep TEKCTUAbHbIE MaLLIMHBI, TPAHCMIOPTEPbI, MOIOThl, KOBOUHbIE MPECCHI U TOMY NoA06HOE). OHM
ABNAOTCA NPUrOOHBIMUA 419 N30AALMN TA6OPATOPHBIX MPUGOPOBOT BUGPALIMIA. BO3MOXKHO UX TOXKE MPUMEHSTb /19 NOAPECCOPUBAHIS
TPY30BbIX U WIbIX MPULENOB 3a JIerkoBble aBTOMO6WAN. OHW MPUMEHSOTCH B MHEBMATUUYECKMX MOAEMHUKAX Hanpumep
B @BTOPEMOHTHbIX cepBucax. OueHb YaCTbIM SBNSETCS TOXE MPUMEHEHNE KakK NMPSMONHENHBIA MHEBMATUYECKIA ABUraTeb
NpOCTOro AencTauns. [pyroe (HETUNMYHOE) MPUMEHEHNE PEKOMEHLYEM MpeaBapuTeIbHO 06CYANTb C 3aBOLOM-I3rOTOBUTENIEM.

lcnosb30BaHNe MHEBMATUYECKUX NMPYXMH A1 TPAHCMOPTHBLIX CPEACTB MPeAoCTaBAsSeT MHOMO Bbirod, Mexay KOTOPble BXOAUT
OXpaHa TPaHCMOPTHOrO CPELCTBA U HAarpy3KM, CHUXKEHNE N3HOCA MOKPLILLIOK U 60/1ee HU3KMIA pacxom, MOTOPHbIX TONAWB. MyTém
N3MEHEHNS BO3OYLLUHOrO [OAB/JEHUS BHYTPW MPY>KMHbI BO3MOXHO JIEFKO W3MEHATb 3arpy304Hyl0 XapaKTepUCTUKy. JTa
L,ENCTBATENIbHOCTb NPeA0CTaBSET 6ONEE LLUMPOKOE NCMOIb30BaHNE NO CPABHEHUIO C KNACCUYECKMN BUHTOBLIMU MPY>XKUHAMMU,
Harnpumep NO3BONFET 06eCNeUnTb MOCTOSHHYK ONTUMAasbHYHO BbICOTY TPAHCMOPTHOrO CPeACTBa U TEM TOXe 6e30LLUNGOYUHYH
yHKUMIO pehNEKTOPOB NPY PA3NNYHON 3arpy3ke TPaHCMOPTHOro cpeacTaa. [1oapeccopeHHble CUAEHNS YBENNUMBAIOT MPOE34HOe
61aroyCTPONCTBO rPy30BbIX TPAHCMOPTHBIX CPEACTB 1 TPAaKTOPOB. He6o bLLIME pacxoasl 419 yXo4a U A0/bLLE XN3HECTOCOHBHOCTh
MO CPaBHEHWIO C O6bIKHOBEHHbBIM MPY>XXUHEHNEM BblABUMAIOT NMPUMEHEHUE NMHEBMATUUECKX NPYXKH.

KomnaekTHas nHeBMaTUecKas Nnpy>kuHa B C60pe COCTOUT 13 PE3NHOTKAHEBOrO CUIb(OHA, N3 KOJIEL, MEX Y BOIHAMY, N3 ABYX
3aKpenuTesIbHbIX OMOPHbIX KOMEL, BEPXHEN U HVXKHEN KPbILLKW, B Cly4Yae pa36opHO-MEPEHOCHOrO KOMMIEKTA, AW KPBILLIOK,
COeAMNHEHHBIX B (hanbly, B Cyyae Hepa3bopHOro koMmnaekTa. KpbiLlky (haaHupl) 1 3aKpennTenbHble KObla NpUCnoCco61eHb
K YyCTaHOBKE Ha NOAPECCOPEHHYHO U HEMOAPECCOPEHHYHO YaCTb MaLLWHBI WX TPAHCMOPTHOMO CPeACTBa U B O4HOWN U3 KPbILLOK
(Han6onee YacTo BEPXHEN) NMEETCS FOpP/JI0BUHA 419 NOAKIOYEHUS NoAaYn Bo3ayxa. bonee noapo6Hyto nHhopmaLmio nonaét
TOProBOW U TEXHUYECKUI OTAEN.

MHeBMaTUYECKME NPY>XNHBI MOHTUPYIOTCS MO OLHOM UK B 6710Kax (MaHensix), B KOTOPbIX COeANHIETCS HEO XOAMMOE KO/IMYECTBO
MHEBMATUYECKUX MPY>KNH — COMIaCHO C BECOM OnupatoLLLerocs 060py,A0BaHNs. Pe3nHoTKaHeBas CTeHKa CiibdoHa He 4,0/HKHa
BXO4/Tb B COMPUKOCHOBEHMWE C OCTPLIMI U FOpAYMMI NpeaMeTamm (OKasimHa, OCTPbIE Kpasi, BbiMyCK MOTOPa 1 TOMY MOL06HOE).

HeBMaTNYeCKMe NPY>KNHbI BO3MOXHO HakaunBaTb CAMOCTOSTENBHO MW U3 LIEHTPA/ILHOTO My/bTa. PEKOMEeHAYEeTCS NpUCoeanHATL
CNBMOHBI K UCTOUHUKY CKATOr0 BO3yXa YepPe3 PEry/IMpYHOLLNIA BEHTUb.

CunbdOHbI MHEBMATUUECKINX MPY>XXNH BO3MOXHO NCMO/Ib30BaTh L0 MaKCMaIbHOro paboyero AaBieHns pmax, npencTaBneHHOro
015 OTAEbHbIX TUMOB. 3TO LaBNEHNE OTHOCUTCS K CTAaTUUECKO BbicoTe Hstat.

Pe3uHa, n3 KoTopoit cunbgOH N3rOTOBIEH, HE ABASIETCS YCTOMUMBOW K BO3LENCTBUIO HE(hTENPOoayKTOB (Macio, HedhTb, 6EH3UH,
KepOCUH, 1 T.n.). [1pun ero 3arps3HeHnn TakuMm BELLLECTBaMU CIb(HOH HEO6X0AVMO OMbITb TEM/I0 BOAOW 1 BbITEPETb.

CraHoapTHble MHeBMAaTUUECKUe MPY>XMHbl N3roTaBameatoTcs n3 SBR (CTUpon-6yTagmneH) kayyyka v OHV NpegHa3HayeHbl 0is
pa6bounx Temnepatyp oT -50 °C o +70 °C. [Ins cneunanbHbiX MPUMEHEHUI MOXET 6blTb 0CO6eHHO Tuna Dunlop npov3seneHbl
13 ClIR (xnop-6yTin) kayuyka, ons pabounx Temnepatyp ot -30 °C no +90 °C nan ¢ ECO (anuxnopruapuH) kayuykom, oas paboumx
TemnepaTyp o1 -30 °C go +115 °C. [JonoaHUTENbHYHO MHDOPMaLMIO NOlyYnTe B OTAENE MPOAAXK WA TEXHNUECKOM OTAENE.

scheme o usage / Typ e schema e pouZiti / cxema e b30BaHne

130x1 4x M6x1

TOP VIEW BOTTOM VIEW

77
¢

wn
SN\

85mm
55mm
115mm

Hmin
Hmax

Hstat

|
|

MAX 140 / Sbar
| ' 5155 — SPACE REQUIRED

AIR INLET

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Z&vit na pfivodu vzduchu na pozadani
mozno zménit na M10x1, prip. zménit jeho umisténi. / Pe3b6y Ha BXoAe BO34yXa, N0 TPe6OBaHUIO, MOXHO 13MeHUTb Ha M10x1 nam xe
N3MEHUTb MECTO PacnosioXKeHUs BXoaa.

130x2 4x M6x1

TOP VIEW BOTTOM VIEW

140mm
100mm
180mm

Hstat
Hmin
Hmax

1/8 BSP
AIR INLET

\ o
MY —
i 2

$
7277777777772

7

N
D
2

MAX 140 / Sbar CIEB seats in Karosa Renault and Karosa Iris buses. / Sedacka CIEB v autobusech
"$155 — SPACE REQUIRED Karosa Renault, resp. Karosa Iris Bus. / lNogpeccopuBaHne cuaernin B aBTobyce
Karosa Renault n Karosa Iris Bus.

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Z&vit na pfivodu vzduchu na pozadani
mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3b6y Ha Bxo4e BO34yxa, MO TPE6OBAHNIO, MOXHO U3MeHUTb Ha M10x1 nan xe
N3MEHUTb MECTO Pacno/ioXXeHnd BXxoaa.

4x M6x1

130x3

TOP VIEW BOTTOM VIEW

240mm

180mm

120mm, Hmax

Hstat

Hmin

AIR INLET

NS &N
D i

7777777777227

%

MAX 6140 / Sbar

' 155 — SPACE REQUIRED o _ ) _ y ) B .
! Rebuilding of axles in commercial motor vehicles. / Prestavba naprav uZitkovych

vozidel. / N9 pEKOHCTPYKLLMN MOCTOB [1€/10BbIX TPAHCMOPTHBIX CPELCTB.

Onrequest, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na privodu vzduchu na pozadani mozno
zménit na M10x1, pfip. zménit jeho umisténi. / Pe3b6y Ha BXo4,e BO34yXa, MO TPE6OBaHMIO, MOXHO 13MeHNTb Ha M10x1 nam »ke 3meHUTb MecTo
pacro/oXeHs BXOa.



AIR SPRINGS DESIGN LINE RUBENA ' AIR SPRINGS DESIGN LINE RUBENA

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

130 Seat

M12x1,5
N AR INLET

TOP VIEW BOTTOM VIEW

A N
(5:1 DETAIL) _211h11_

11H13

CIEB seats in Karosa Renault and Karosa Iris buses. / Sedacka CIEB v autobusech Karosa Renault, Karosa Iris Bus. / [NogpeccopusaHue
cupeHni B aBTobyce Karosa Renault n Karosa Iris Bus.

Set is fixed for the pin or combined supply of air. / Komplet fixovén za ¢ep resp. kombinovany privod vzduchu, zajistén pojistnymi krouzky. /
KomnnekT KpenuTcs 3a naseL, i xe KOMOUHUPOBaHHbI NMOABOL, BO34yXa, CTOMOPUTCS CTOMOPHLIMMW KO/IbLLAMMU.

170x1 JAx MBx1,25 TOP VIEW BOTTOM VIEW

&
2l
-—

90mm

[ts)

in=60mm
120mm

Hmin
Hmax

Hstat

#130
2165
MAX @180 / 7bar
¢195 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na privodu vzduchu na pozadani
mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3b6y Ha Bxo4e BO34yxa, N0 TPE6OBaHNIO, MOXHO N3MeHUTb Ha M10x1 nan xe
N3MEHNTb MECTO PacMo/IOXKEHNS BXOa.

4x M8x1,25

TOP VIEW BOTTOM VIEW

170x2

205mm

145mm

85mm, Hmax

Hstat

Hmin

1/8 BSP
AIR INLET

|
|
|
MAX 180 / 7bar
‘ ‘ 2195 — SPACE REQUIRED

Rebuilding of axles in commercial motor vehicles. / Prestavba naprav uzitkovych vozidel. / [1ns peKOHCTPYKLMM MOCTOB [A,eN10BbIX TPAHCMOPTHbIX
CpeLnCTB.

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani
mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha Bxo4e BO34yxa, MO TPEOOBAHNIO, MOXHO M3MeHNUTb Ha M10x1 nan xe
M3MEHUTb MECTO PacnosioXeHUs BXoaa.

170x3 4x M8x1,25

TOP VIEW BOTTOM VIEW

=290mm

190mm

Hstat
90mm, Hmax

Hmin

/8 BSP
AIR INLET

|
|
|
MAX #180 / 7bar
| ‘ #195 — SPACE REQUIRED

Rebuilding of axles in commercial motor vehicles. / Pfestavba naprav uzitkovych vozidel. / [1n5 peKOHCTPYKLY MOCTOB AE10BbIX TPAHCMOPTHbIX
CpenCTB.

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Z&vit na pfivodu vzduchu na pozadani
mozno zménit na M10x1, pfip. zménit jeho umisténi. / Pe3b6y Ha Bxo4e BO34yxa, N0 TPe60BaHN, MOXHO U3MeHUTb Ha M10x1 nan xe
U3MEHUTb MECTO PacnosioKeHUs BXoa.

190x1

#1390
#120
#87

| P97 e

140

|
R T

T
NOTE: Mould cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
3AMETKA: Pa3mepbl Non0ocTu hopmbl.

190x2

NOTE: Mould cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
3AMETKA: Pa3mepbl NonocTu hopmbl.




AIR SPRINGS DESIGN LINE RUBENA ' AIR SPRINGS DESIGN LINE RUBENA

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

190x 3 semi assembIL

M8x1,25

TOP VIEW BOTTOM VIEW

=240mm
=340mm

Hstat:
140mm, Hmax:

Z, '
Hmin=

MAX ¢200 / 7bar

8215 — SPACE REQUIRED

Suspension of front axle LIAZ trucks. / Odpruzeni predni ndpravy tahacti LIAZ. / MoapeccopriBaHue nepefHero MocTa rpy3osuk LIAZ.

M8x1,25
220x2
| TOP VIEW
| £
I 5
! N
I =il
i g5 =
JE =
| N —
I i . o
| w | SE ™
| E
| | I =@
I I Lo
| | | E
| T
| ] |
|

T
‘ #8910,2

#157 3/4 BSP
MAX 8250 / 8bar AIR INLET

#265 — SPACE REQUIRED

Lifting of truck's axles. / Zvedani néprav u névésti a souprav. / [MoabEM MOCTOB Fpy30BIIKOB.
Cross ref.: ContiTech FD 200-19, Firestone 20, 20CT, 20F

M8x1,25

220x2E

a TOP VIEW

290mm

220mm

80mm, Hmax

Hstat

Hmin

3/4 BSP
AR INLET

I
|
|
|
|
MAX 8255 / 8bar
8270 — SPACE REQUIRED

Lifting of truck's axles. / Zvedani ndprav u navés( a souprav. / [1oabEM MOCTOB py30BKOB.
Cross ref.: ContiTech FD 200-22, Firestone 20F2

BOTTOM VIEW

BOTTOM VIEW

220

TOP VIEW

9157 -
M8x1,25 =
I i
| I/ | 3
-
i 1 L
=
’//‘—\
989:+0,2
G1/4

1/4 BSP
AIR INIFT T

Lifting of truck's axles. / Zvedani ndprav u navés( a souprav. / [ofb&M MOCTOB rpPy30BVKOB.
Cross ref.: ContiTech FD 200, Firestone 20, 20CT, 20F, 20F2

280x1 as

108

NOTE: ll\/Iould cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
3AMETKA: Pa3mepbl Noa0CTv hopMbl.

#22H11
280x2 SOR *!—1‘ “7 TOP VIEW BOTTOM VIEW
1:2 1:2
i s (1:2) (1:2)
'e]
o i ©
2 I
T+ r
: / 0 ‘ £
‘ ‘ £
Te}
~N
| o~
& | %
| gl £
| gl &
: S E
| Il g
‘ ‘ 1y 2
I i (]
| M8x1,25 | [ 2
[ ‘ I £
w T
N G
T <
$205+0,2
‘ 8232

MAX 8295 / 7bar
#310 — SPACE REQUIRED

Suspension of axles SOR, Solbus, Kravtex buses. / Odpruzeni ndpravy autobusy SOR, Solbus, Kravtex. / lNogpeccopyiBaH/e MOCTOB aBTO6YCOB
SOR, Solbus, Kravtex.

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop and the shape of a counterpiece = the lower
lid. Assembly is struck onto a pin on the upper lid.

*) Uvedend hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem a tvarem protikusu = spodniho vika.
Komplet narazen na ¢ep na hornim viku.

*) Yka3aHHOe 3HaueHne Hmin 9BageTCs TONbKO TEOPETUYECKUM - B HUDKHUX YacCTSX X048 3Ta BbiCOTa OrpaHnyeHa OTOOMHNKOM U hopmon
KOHTPAETANN = HUKHAS KpbILLIKa. KOMNAeKT 3aduKCnpoBaH Ha Landy BEPXHeN KPbILLIKKA.




AIR SPRINGS DESIGN LINE RUBENA ' AIR SPRINGS DESIGN LINE RUBENA

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

280x3

9280

#185

9142
|
T
|
|
|
Il
1
|
| b
| [a\]
T
|
T
|
: NOTE: Mould cavity dimensions.
\ POZNAMKA: Rozméry dutiny formy.

a ‘ 6 3AMETKA: Pa3mepbl No10CTv hopMbl.
290x1
9293
‘ 9184 |

——

|
L
|
|
|
T
|
T

93

) NOTE: lMouId cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
6 3AMETKA: Pa3mepbl No10CTV hopMbl.

e

Water pump for mobile toilet EkoDelta. / Vodni ¢erpadlo pro mobilni WC Eko Delta. / BoagHon Hacoc ang moéunsHomn y6opHoi Eko Delta.

290x2

NOTE: Mould cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
6 3AMETKA: Pa3mepbl nonocTtu hopmbl.

o

Water pump for mobile toilet EkoDelta. / Vodni ¢erpadlo pro mobilni WC Eko Delta. / BoggHon Hacoc ana mo6uabHom y6opHoi Eko Delta.

290x3
\
: NOTE: Mould cavity dimensions.
; POZNAMKA: Rozméry dutiny formy.
a [ 6 3AMETKA: Pa3mepbl nonoctu hopmbl.
340x2
2340
‘ 230 ‘

162

NOTE: Mould cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
3AMETKA: Pa3mepbl nonocTu hopmbl.

P | G

For rebuilding front axle of Tatra. / Uprava pFedni napravy Tatra. / PeKoHCTPyKLMS nepeHero MocTa rpy30Buka Tatra.

340x3 Tatra 3t
|
i %%
B R
€ | O\ /4/((\49 TOP VIEW BOTTOM VIEW
é : ‘Y | A (1:2) (1:2)
M |
I |
x
[o] |
€| E
(= i
| £
Q| €
S
B == |
Al |
I|% ! |
= I
€1 |
aE |
L \
— |
& T
=
—~—

@ |
o~ |
T M16
cca 2150

MAX 345 / 7bar
8370 — SPACE REQUIRED

Suspension of axles Tatra 3 t. / OdpruZeni népravy Tatra 3 t. /
MoapeccoprBaHue MocTa rpy3oBuka Tatra 3 t.

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop. Assembly is set behind M16 screws in the
lids. On request, a semi-assembly without lids may be delivered (24 M8 x 25 screws and relevant washers enclosed).

*) Uvedend hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vyska ovlivnéna dorazem. Komplet fixovan za Srouby M16 ve
vikéch. Na pozadani mozno dodat jako polokomplet bez vik (24 ks Sroubt M8 x 25 a pfislusnych podlozek pribalem).

*) YkazaHHoe 3HaueHne Hmin 9BnsgeTcsd ToNbKO TEOPETUUYECKUM - B HUMKHUX YacTsdX XO[a 3Ta BblCOTa OrpaHUUYMBAETCS OrpaHUUUTENEM.
KomnnekT 3akpennsercd 6ontamy M16 B Kpbillkax. [1o Tpe6oBaHUKO BO3MOXHa MOCTaBka B BUOE MOJYKOMMIEKTa 6€3 KpblLLeK
(c monykoMnnekTom nocTaBaseTcs 24 Wt 601ToB M8X25 1 COOTBETCTBYIOLLLMX LLAING).




AIR SPRINGS DESIGN LINE RUBENA ' AIR SPRINGS DESIGN LINE RUBENA

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

340 x 3 Karosa screwing

380mm

=280mm
180mm,Hmax:
J

Hstat

APLY—Hmin®)

ﬁ

923

[ e2onn

cca 8170
MAX @345 / 7bar
9370 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW
(1:2) 1:2

Suspension of axles in Karosa Renault and Karosa Iris buses. / Odpruzeni
napravy Karosa Renault, Karosa Iris Bus. / lNogpeccopusaHue MocTa aBTobyca
Karosa Renault, Karosa Iris Bus.

*) Given Hmin figure is only theoretical — this height is, in lower parts of the lift,
influenced by the stop. Assembly is struck onto the pins on the lids.

*) Uvedend hodnota Hmin je pouze teoretické - ve spodnich partiich zdvihu je

tato vyska ovlivnéna dorazem. Komplet narazen na ¢epy na vikéch.

*) YKka3aHHoe 3HaueHre Hmin SBASETCS TObKO TEOPETUYECKUM — B HUXXHUX YacTsaX X04a 3Ta BbiCOTa OrPaHUYMBAETCS OFPaHUYNTENEM.

KoMnneKT HacaXXeHHbIN Ha LUTbIPU KPbILLEK.

340X3 LIaZ @ ccab0
c s B TOP VIEW BOTTOM VIEW
= 1.2 1:2
£ oY (:2)
© —|Z L !
~ x| = i i
L e ZEOR 72
o =< 3 ~. 7 N,
E g I N I
g; i i
g 3 1/ ﬁ‘ \\ A/ “ \\
jg | "’ i \ “‘ i
3% \ i / \ i /
= i oS = oS =
£ | ~e e
|
Z
o i
= i

4:8
e

$22H11

cca 8170
MAX 8345 / 7bar
9370 — SPACE REQUIRED

Suspension of LIAZ. / Odpruzeni podvozku LIAZ valnik. / NMogpeccoprsaHue
Kapkaca rpysosuka LIAZ.

Assembly is struck onto the pins on the lids. / Komplet narazen na ¢epy na
vikach. / KoMnaeKT HacaXKeHHbI Ha LUTbIPY KPbILLIEK.

340 x 3 Liaz truck
fa 1 i
M8 | «f | 280 ccab, ‘
— TOP VIEW BOTTOM VIEW
g = (1:2) (1:2)
[Tl ]
2 <=2
I -
3 s=
£
i
0
0|5
Bz
fL
£
T
L
g Suspension of LIAZ truck. / Odpruzeni podvozku LIAZ tahac. / NoapeccopvsaHue
Kapkaca rpy3osuka LIAZ Tarau.
< ”M’L% 23 Assembly is struck onto a pin on the bottom lid. Upper lid is delivered sepa-
- rately — not mounted (6 M8 x 25 screws and relevant washers enclosed). On

1 e2onn

cca ¢170
MAX @345 / 7bar
370 — SPACE REQUIRED

request, a semi-assembly without the upper lid may be delivered (6 M8 x 25
screws and relevant washers enclosed).

Komplet narazen na ¢ep na spodnim viku. Horni viko dodavéno volné -
nenamontovano (6 ks Sroubd M8 x 25 a pfislusnych podlozek pribalem).

Na pozadani mozno dodat jako polokomplet bez horniho vika (6 ks Sroubd M8 x 25 a prislusnych podloZek pribalem).

KOMMNNEKT HaCaXXeHHHbIM Ha nanel, HUKHeN KPbILLKW. BerHFI;I KpbILLIKa MOCTaBNAE€TCA B HEYCTAHOB/IEHHOM COCTOAHUN (C KOMMNJIEKTOM

nocrasnsieTcs 6 LT 601ToB M8X25 11 COOTBETCTBYHOLLIMX LLIAIG).

340 x 3 Karosa Recreo crimp

400mm

152

300mm
200mm,Hmax

Hstat

63

APLY—Hmin*®

cca 4150
MAX 9345 / 7bar

8370 — SPACE REQUIRED

£

g

400mm
163 %

300mm
200mm,Hmax

Hstat

N
©

£

Hmin*)

38

M10x1
AR INLET'

Suspension of axles in Karosa Renault and Karosa lIris
buses / odpruzeni napravy Karosa Renault, Karosa Iris Bus
/ noppeccopvBaHue mocTa aBTobyca Karosa Renault,
Karosa Iris Bus.

*) Given Hmin figure is only theoretical - this height is, in
lower parts of the lift, influenced by the stop. Assembly is
struck onto the pins on the lids. A — pipe height under the
stop 152 mm, air inlet with an M10x1inner thread. ® —
pipe height under the stop 152 mm, extended air inlet with
an M10xlinner thread. © — pipe height under the stop
152 mm, extended air inlet with an M12x1.5 outer thread.

@

M12x1,5

D - pipe height under the stop 163mm), 45° angle air inlet,
with an M16x1.5 inner thread. © — pipe height under the
stop 163 mm, extended air inlet with an M12x1.5 outer
thread.

@)

AIR INLET

TOP VIEW BOTTOM VIEW
(1:2) 1:2

I *) Uvedend hodnota Hmin je pouze teoreticka - ve spodnich
@}“f @ partiich zdvihu je tato vyska ovlivnéna dorazem. Komplet

narazen na ¢epy na vikach. ® — vy&ka trubky pod dorazem
152 mm, privod vzduchu s vnitfnim zavitem M10x1.
— vySka trubky pod dorazem 152 mm, prodlouzeny
ptivod vzduchu s vnitinim zavitem M10x1. © — vygka trubky

pod dorazem 152 mm, prodlouzeny pfivod vzduchu

M12x1,5

@

s vn&jgim zavitem M12x1,5. © — vy&ka trubky pod dorazem
163 mm, privod vzduchu pod thlem 45° s vnitfnim zavitem
M16x1,5. ® — vyska trubky pod dorazem 163 mm,

prodlouzeny privod vzduchu s vnéjsim zavitem M12x1,5.

AIR INLET

*) YkazaHHoe 3HaueHve Hmin 9BnsieTcs TONbKO TEOPETUYECKUM - B HUXKHUX YacTsx XO[a 3Ta BblCOTa OrpaHNYMNBAETCS OrpaHUUnTENEM.
KoMnnekT HacaXkeHHbIN Ha LUTLIPK KpbiLLiek. A — BbicOTa TPYGKY Mo, orpaHnuutenem 152 mm, BXoL, BO34yxa C BHyTPeHHeN pe3b6orn M10x1.
(B — BbICOTa TPY6KM MOJ, orpaHuunTenem 152 MM, yAJMHEHHBIN BXOM, BO34yXa C BHyTPeHHEN pe3b6oit M10x1. © — BbicoTa Tpy6KM nop,
orpaHuunTenem 152 MM, ya/IMHEHHbI BXOA, BO34yXa C BHELLUHel pe3b6oit M12x1,5. (D — BbicOTa TPY6KU Mo, orpaHuunTenem 163 MM, BXog,
BO3[yxa nof, yriom 450 ¢ BHyTpeHHen pe3b6boit M16x1,5. E) — BbicoTa Tpy6KM nog, orpaHuunTenem 163MM, Yo MHEHHbIV BXOL, BO34yXa

C BHeLLHen pe3b6on M12x1,5.

380x1

106

NOTE: Mould cavity dimensions.
POZNAMKA: Rozméry dutiny formy
3AMETKA: Pa3mepbl nonocTtu hopmbl.




AIR SPRINGS DESIGN LINE RUBENA = AIR SPRINGS DESIGN LINE RUBENA @Rubena

Type o scheme ¢ usage / Typ e schema e pouZiti / ¢ CXEMa e UCMNO/Ib30BaHne

380x2 NOTE: Mould cavity dimensions.
POZNAMKA: Rozméry dutiny formy.
3AMETKA: Pa3mepbl Noa0CTy hopMmbl.

Suspensions of Tatra chassis. / Odpruzeni $asi Tatra. / lNogpeccopviBaHne kapkaca rpy3oBuka Tatra.

380 x 3 Tatra 4t
N
] - D
o A NE TOP VIEW BOTTOM VIEW
£ i o L\7
e I
=2 I
M — = |
0 VRS !
o — —|= |
el 2 SE
==
roll
Q€
3 g
o| |
2 S
= |
1<l |
I -
N \
o ] Suspensions of Tatra axles. / OdpruZeni $asi Tatra. /
= lMofpeccoprBaHme kapkaca rpy3oBuka Tatra.
N I *) Given Hmin fi gure is only theoretical — this height is, in
T M16 lower parts of the lift, infl uenced by the stop. Console under
cca 9160 the stop in three heights. The assembly is set behind M16
MAX 8395 / 7bar screws in the lids. On request, a semi-assembly without lids
9420 — SPACE REQUIRED may be delivered (30 M8 x 25 screws and relevant washers
enclosed).

*) Uvedend hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem. Konzole pod dorazem ve tfech
vyskach. Komplet fi xovan za Srouby M16 ve vikach. Na pozadani mozno dodat jako polokomplet bez vik (30 ks Sroubd M8 x 25 a pfislusnych
podloZek pribalem).

*) Yka3aHHoe 3HauyeHne Hmin SBNsSieTcs TO/IbKO TEOPETUUECKMM — B HUDKHMX YacTsx X04a 3Ta BblCOTa OrpaHUY/BAETCS OrpaHUunTENEM.
KpOoHLLTENHbI MO, OrpaHnyYnTeNnem B TpEX ypoBHSIX. KomnaekT 3acmkcmpoBaH 6o1Tamu M16 B kpbiLLikax. [1o Tpe6oBaHUiO BO3MOXKHA NOCTaBka
B BUA,E NOJyKOMI/IeKTa 6€3 KpbiLLieK (C noaykommnaekTom noctaenserca 30 Wt 60nToB M7 X 25 1 COOTBETCTBYIOLLIVX LLIAIG).

410x 1 NOTE: Mould cavity dimensions.
$410 POZNAMKA: Rozméry dutiny formy.
2310 3AMETKA: Pa3mepbl nonocTu hopmbl.
2270

132




AIR SPRINGS DESIGN LINE RUBENA ' AIR SPRINGS DESIGN LINE DUNLOP

2%"x1

MAX @80 / 8bar
$95 — SPACE REQUIRED

$36£0,1

MAX @80 / 8bar
#95 — SPACE REQUIRED

MAX 880 / 8bar
95 — SPACE REQUIRED

=60mm

Hstat

50mm,Hmax=70mm

Hmin

110mm

65mm, Hmax

=
S
T

80mm, Hmax=140mm

Hmin

TOP VIEW BOTTOM VIEW

AIR INLET

TOP VIEW BOTTOM VIEW

AIR INLET

TOP VIEW BOTTOM VIEW

1/4 BSP
AIR INLET

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tn e cxema e NCNoNb30BaHNE

Cross
Reference

ContiTech
FS22-3

Firestone
WO1R584079

Springride
SP2906

Cross
Reference

ContiTech
FD 22-4

Firestone
WO01R584080

Springride
SP2907

Cross
Reference

ContiTech
FD 22-6

Firestone
WO01R584081

Springride
SP2910




AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

‘R Rubena

4%"x 1 5" x 1 Crimped
TOP VIEW BOTTOM VIEW Bora e
M6
Reference Reference
2 _ M8x1,25 TOP VIEW BOTTOM VIEW
g g E ContiTech ; | ContiTech
\ 88 FS 44-5 =] 1720 e FS 40-6
‘ SEs | §e5
w 2=E Firestone ‘ Qo= Firestone
A\ WO1R584050 ! sE8 —
$93+0,1 i ZTE i
5110 Springride ! Springride
MAX #125 / 8bar SP2334 | 920£0,1 —
_ 990 \
#140 — SPACE REQUIRED
3/8 BSP MAX 145 / 8bar
AR INLET |
#160 — SPACE REQUIRED AR INLET i
4%"x 2 5" x 2 Crimped
Cross Cross
M6 Reference M&x1.25 Reference
| e = TOP VIEW BOTTOM VIEW o MRS
= |E ContiTech ContiTech
\ £ TOP VIEW BOTTOM VIEW
‘ = FD 44-10 £ | FD 40-10
gl R
‘ éig Firestone EL Firestone
| \ | = WO1R584051 S g —
= E S|
\ | = ‘ Ye
| I Springride 2E i Springride
\ ‘ L ‘ 2S
] £ SP2441 | I~ _
\ x <
| £
T
$9340,1
#110 3/8 BSP 1/8 BSP
MAX @125 / 8bar AR INLET AR INLET w
$140 — SPACE REQUIRED MAX 8145 / 8bar
<‘ $160 — SPACE REQUIRED
n -
4%"x3 x 3 Crimped
Cross Cross
, Reference MEx1.25 Reference
: Nol 4 TOP VIEW BOTTOM VIEW ContiTech i T -
- FT 44-15 ! a2k TOP VIEW BOTTOM VIEW —
£ ) ‘ €
| E Firestone | E Firestone
& WO01R584035 = —
gl sl
5| E - £ 8 N
Silf= Springride 8L Springride
Le SP2895 . | | N _
| 3 E 5E
T [2]
| \ L : %
< I
[ £ | £ .G 1/8
\ \ - ‘ £ 1/8 BSP
3/8 BSP ‘ AR INLET ‘
N AIR INLET
| |
$9340,1
$20+0,1
#110 <7
MAX #125 / 8bar “o90 ‘
MAX 8145 / 8bar
#140 — SPACE REQUIRED
#160 — SPACE REQUIRED




‘R Rubena

AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

Cross
TOP VIEW BOTTOM VIEW Reference

MAX 8168 / 8bar
9180 — SPACE REQUIRED

M8 .
TR e 767
- (g mlR TTEEE ;
w| Bu
: ::F T‘:u‘i‘:‘ Firestone
— e WO1R584078
R NN N&Em T
Qj:zﬂZ;QiT SP2913
MAX 9168 / 8bar
‘ 180 — SPACE REQUIRED
‘ /2 BSP
AR INLET
6" x 2 (Al)
Cross
M8 Reference
I TOP VIEW BOTTOM VIEW )
[ ‘% E ContiTech
ol |2 FD 76-14
‘ g
I £ s )
T | £ Firestone
| ‘ L 1: WO1R584070
i | I BIE
I | TS SEFTErE
‘ ‘ i pringride
£ SP2917
| T
$12740,1
‘ $152,4
‘ MAX 0168 / 8bar
‘ 2180 — SPACE REQUIRED
6" x 3 (Al)
Cross
Reference
M8 .
r,-//////////q; ;V//////m- C TOP VIEW BETTEN WEL ContiTech
SLARR FT 76:20
0
g | Firestone
® —
o~
£ L
£l o ) X
8/ E Springride
i SP2923
= €
[ | e
| -
[ =
[ [
z=r= \BINBINE\ ~%: 1/2 BSP
\gl‘\\\\\\\\\\\\\\!\g.\\\\\\\\\‘ AR INLET
127401
9152,4




AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

6" (Al) added fixing holes (2 x M8, o 44,5)

8127+0,1

9152,4

6" x 1 (Steel)

6" x 2 (Steel)

M10x1,5
Lo}
S
o~
£
gl e
EES
B3
DEE
L]
12740,2 =
3
9154 E
MAX 168 / 8bar
9180 — SPACE REQUIRED
M10x1,5
M
S
N
£
£
o
e
el
E| S
RE
I -
5
20
£
-
@
$12740,2 =
g
9154 E
MAX 168 / 8bar
9180 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW

AR INIFT

TOP VIEW

BOTTOM VIEW

1/2 BSP
AR INLET

TOP VIEW

BOTTOM VIEW

AR INLET

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech
FS 76-7

Firestone
WO01R584052

Springride
SP1536

Cross
Reference

ContiTech
FD 76-14

Firestone
WO01R584053

Springride
SP1482

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

n
6" x 3 (Steel)
M10x1,5
I}
fm 6 o "
§ i | ;R
]
[
[
€
[ £
o0
~
| i
‘ o é
DE
[ =
| Ble
\ z\E
| | ES
| | ]
| £
| I £
‘ T
| |
) |
J I §
oy ‘ i
8127402 0
8154 3
MAX 168 / 8bar E
180 — SPACE REQUIRED

TOP VIEW

1/2 BSP
AR INLET

6" (Steel) eccentric (M12x1,5; R25; 259)

M10x1,5

6" (Steel + Al combination)

154

17,3

max.5

M12x1,5

12mm deep

AIR INIFT

$12740,2
M10x1,5

max.15

14,5

e N N NG

TOP VIEW

TOP VIEW

1/2 BSP
AR INLET

BOTTOM VIEW

BOTTOM VIEW

Cross
Reference

ContiTech
FT 76-20

Firestone
WO01R584095

Springride
SP2861

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech

Firestone
6"x2
WO01R584084

Springride

The flanges can be even combined in reverse order (aluminium upper flanges and steel lower flanges). The aluminium central ring or the steel

central ring may be delivered.

Kombinovat pfiruby Ize i obracené (horni hlinikové a spodni ocelové). Stredni kruh mozno dodat hlinikovy nebo ocelovy.
KprLIJKI/I MO>XHO 3aMEHUTb U Hao6op0T (BerHaﬂ AJTIOMUHMBAdA N HMKHAdA CTaﬂbHaﬂ). Cpe,u,Hee KO/1bLLO MOXXHO MOCTaBUTb U3 altOMUHUA U

CTann.




AIR SPRINGS DESIGN LINE DUNLOP = AIR SPRINGS DESIGN LINE DUNLOP

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tn e cxema e NCNoNb30BaHNE

6" x 1 Crimped

M8x1,25

MAX #6168 / 8bar
#180 — SPACE REQUIRED

6" x 2 Crimped

MAX @168 / 8bar
#180 — SPACE REQUIRED

95mm
53mm
110mm

Hstat
Hmin
Hmax

155mm
=195mm

75mm, Hmax

Hstat

=
€
T

215mm
=270mm

100mm, Hmax

Hstat

Hmin

TOP VIEW BOTTOM VIEW

AIR INLET

TOP VIEW BOTTOM VIEW

AIR INLET

TOP VIEW BOTTOM VIEW

AIR INLET

Cross
Reference

ContiTech
FS 70-7

Firestone

Springride

Cross
Reference

ContiTech
FD 70-13

Firestone
W01-358-7025

Springride

Cross
Reference

ContiTech

Firestone

Springride




AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

8" eccentric (M12x1,5; R35; 10°)

Cress TOP VIEW Cross
M10x1,5 e ey oUW Reference Reference
M10x1,5
; ﬁ ant I E ContiTech o) s 0 mt ContiTech
TRE ‘ e g FS138-8 | el [ & -
| | € Eg L |
| | | g [Shv " |
! | [ N Firestone - | Firestone
| [SG[EENS 3| T —
‘ % §§ WO01R584054 g o
{ [1 L Springride Springride
oy pay i oy =i
8155,6+0,2 © SSEy M12x1,5
7184 B 15mm deep
MAX 8230 / 8bar & AR INLET
#240 — SPACE REQUIRED 1/2 BSP
AIR INLET
More using: Linting of axles SAE, Gigant Group, Lohr
8"x2 M10x1,5 C
x1, ross " A
fm fams o @ TOP VIEW BOTTOM VIEW Reference 8"x1 Crlmped Cross
i T R TOP VIEW BOTTOM VIEW
! g ContiTech ot 5 Reference
‘ 5 FD 138-18 ContiTech
el
| £ x . -
=l Firestone ggE
= £lEE
| ‘ | e WO1R584055 | 825 Firestone
‘ ‘ 2 | e o
i [ i I Springride SEg
£ @22
i £ SP1490 g T Springride
g T ] S08101
oy 1)) o
#155,640,2 ) 1/2 BSP MAX 8230 / 8bar
il 8 AR INLET 9240 — SPACE REQURED
MAX 8230 / 8bar = ! 3/4 BSP
9240 - SPACE REQUIRED AR INLET
More using: Linting of axles SAE, Lohr
n
8"x3 M10x1,5 =
ross
o) fams I ] TOP VIEW BOTTOM VIEW R
i T B eference -
T Lok 8" x 2 Crimped
: ContiTech M8x1,25 Cross
[ E FT 138-26 ‘ TOP VIEW BOTTOM VIEW Reference
[ 2 [
c )
| e[l Firestone : E Sont'TeCh
SE WO01R584056 ‘ S
[ 2T i E|%
[ 0 e 5
= g Springride RIE Firestone
‘ w . 23 SP2863 \ | HE -
‘ | | £ ‘ 28 N
[ | [ £ [ [ = Springride
| | £
1/2 BSP £ S08201
] ﬂ:ﬂ : AR INLET
Ly = o e
m551,2j0,2 . MAX 8230 / 8bar
MAX wfso / 8bar £ ‘ ‘ 8240 — SPACE REQUIRED AIR INLET
9240 — SPACE REQUIRED




AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP @Rllbena

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME
8" Crimped N 97" x 1 Crimped
Cross Cross
Reference 1P SOTTON Reference
M8x1,25
9135 ContiTech ContiTech
M8x1,25 i : ] _
e ! } | ElEE
i /g Firestone } i 1888 Firestone
f — I YA _
L//—\l\t g ! i I E E Ig
w7o¢o,2‘ Springride : Springride
o 989+0,2 S09101
© i MAX Qﬁ;;(?/ 8bar
L‘/; \EEET ‘ ! 9285 — SPACE REQUIRED
3/4 BSP
AR INLET
91" x 2 974" x 2 Crimped
Cross Cross
M10x1,5 TOP VIEW BOTTOM VIEW Reference M8x1,25 TOP VIEW BOTTOM VIEW Reference
A 1] I H LR ContiTech ; ContiTech
! FD 20921 g £ -
| 2
! £ £ £ T Il
ElEE Firestone E E’ Firestone
: ‘ g - -
[ i | BEE : AE
[ [ PETE Springride } ] £% Springride
i SP2703 ! I | 509202
I ]‘ﬂ T
Lo ] ‘
0316;:9;;0,2 0 $89+0,2
5197 > 8157
MAX 8260 / 8bar g AR INLET | A G0 () o
I 9275 _ SPACE REQURED | $285 — SPACE REQUIRED AIR INLET
More using: MAN F 90
9%" eccentric (G1/4"; R22; 0°) 912" Crimped
TOP VIEW Cross TOP VIEW Cross
Reference Reference
- e s W05 ContiTech e ContiTech
( [l ) §¢ - o MBx1,25 E -
T i (C, 3
g ; Erestone U T\ I ® ® irestone
g 044 R
Springride L, GERE02 i 0 Springride
G1/4 G 1/4
/4 BSP 1/4 BSP
AIR INLET

AR INLET



AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP @Rllbena

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME
10"x 1 e 10" x 3 SOR
- Cross Cross
ﬁdﬁﬂ ﬁ T E TOP VIEW BOTTOM VIEW Reference Reference
] _ 1 I o (1:2) (1:2) R TOP VIEW BOTTOM VIEW
‘ bt | B | EleE ContiTech o (2 () ContiTech
‘ ‘ | HES F$210-10 -
I I I Jﬁ‘l
| — ‘ ;‘igg Firestone ] I Firestone
| P m P WO1R584057 £ -
i j z
e g
T $181£0,2 T 0 Springride 1 Springride
9210 % /2 BSP SP2523 gl € =
MAX 8280 / 8bar E AR INLET aF
: $295 — SPACE REQUIRED S E
I o =
I | |E
i T
I 1|35
| I |%
10" x 2 M10x1,5
/ i = I i Cross MAX 9280 / 8bar
Cd : = Reference ‘ : 9295 — SPACE REQUIRED
E TOP VIEW BOTTOM VIEW i
| § (1:2) : Egnztg—gcgz More using: suspension of axles SOR, Solbus, Kravtex buses.
: § £ E *) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop and the shape of a counterpiece = the lower
£
‘ 9 § Firestone lid. Assembly is struck onto a pin on the upper lid.
[ |4 E WO1R584058 *) Uvedend hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem a tvarem protikusu = spodniho vika.
I I | B ”S Komplet narazen na ¢ep na hornim viku.
: : : L Springride *) Yka3aHHOe 3HaueHne Hmin 9Ba9eTCs TONbKO TEOPETUYECKUM - B HUDKHIX YacCTSX X048 3Ta BbiCOTa OrpaHnyeHa OTOOMHNKOM U hopMoNn
: £ SP1538 KOHTPAETAN = HUKHAS KPbILLIKa. KOMNAeKT 3aduKcnpoBaH Ha Landy BEPXHeN KPbILLIKK.
[ ﬂ\ﬂ i
) @ o 1/2 BSP
S g AIR INLET
210 %
MAX #280 / 8bar E
‘ : 295 — SPACE REQUIRED
10" eccentric (M16x1,5; R40; 459)
More using: Flexolink, York - Tecair, Seddon Atkinson, Lohr, lifting jacks Zendex and Cattini, lifting pulley of pantograph. Cross
g 9] g y g
TOP VIEW Reference
(1:2)
M10x1,5 ;
) : ContiTech
S o W N -
{ ! L M[ 1 )
5 : : == Firestone
% ‘ WO01R584086
10"x 3 M10x1,5 = - 980 Sorinarid
e = ross pringride
; ﬁ £ Co Reference -
| ..
TOP VIEW BOTTOM VIEW ContiTech
‘ EE (1:2) 3 FT210-32
| w €
) =2 8
‘ Ti 1 Firestone
EEE WO1R584059
: SEeE
| L g8 Springride ) _ )
¢ i 2PLY SP1539 10" clamping ring with nuts (4x M10)
‘ ‘ | |EE 4PLY SP2603 Cross
! ! [ NN /2 BSP TOP VIEW Reference
| | L zg AIR INLET (1:2) ‘
I B ‘ mgﬂ%yz | 4x M10x1,5 SonUTech
[ ﬂ\ﬂ ]
jamy & Firestone
#181%0,2 o
9210 p -
MAX #280 / 8bar g
| ‘ $295 — SPACE REQUIRED Springride

More using: Seddon Atkinson, lifting jacks Zendex a Cattini, Castera, Frejat, Titan, Trouillet, Somerel Leveques, Samro, Denis Bus, lifting pulley of pantograph. More using: lifting pulley of pantograph.



AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

Y o
W 1N .
‘ | ! ek
I I I %ég
| I 2l (AT
I I =2 [cTR=g:
] 45% =
] [ ] i
T ]
I ,
$231,8+0,2 0
9260 %
MAX 9330 / 8bar £
$345 — SPACE REQUIRED
I
M10x1,5
1 1N
£
£
‘ S
mn
o gy
‘ 512
| n x
| T I < %
| I | ‘ol
I i s
| | | o=
| S
v -
[ L I L
{ I' 3
9231,8+0,2 ©
9260 %
MAX 8330 / 8bar £
: 9345 — SPACE REQUIRED
I

More using: Gigant Lift, Lohr, Setra SG 175, MAN F 90, SAF axles

12" x 2E

M10x1,5
joun| ")
“ 1 5

] o~

|
! mn
i i £
[ = 5
o
I 3
! L
i g[S
w 5=
T =&
\ 9lE
| |0
| 2~
I |1l
| | Ic
i €
| ' E
I Lo
|
| a
| ~
‘ |
i
P ; P
L ~
$231,840,2 0
9260 S
MAX 345 / 8bar g
$370 — SPACE REQUIRED

TOP VIEW
(1:2)

TOP VIEW
(1:2)

TOP VIEW
(1:2)

1/2 BSP
AIR INLET

1/2 BSP
AIR INLET

1/2 BSP
AR INLET

BOTTOM VIEW
(1:2)

BOTTOM VIEW
(1:2)

BOTTOM VIEW
(1:2)

Cross
Reference

ContiTech
FS 412-10

Firestone
WO01R584060

Springride
SP1540

Cross
Reference

ContiTech
FD 412-22

Firestone
WO01R584061

Springride
SP1541

Cross
Reference

ContiTech

Firestone
WO01R584039

Springride

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

BOTTOM VIEW

=
N
] o~
@% il TOP VIEW
(1:2) (1:2)

18,5
430mm
420mm

=250mm
100mm,Hmax
120mm,Hmax

Hstat

2PLY=Hmin
4PLY=Hmin

1/2 BSP
AR INLET

©231,810,2
©260
MAX ¢330 / 8bar

98345 — SPACE REQUIRED

max.15

More using: Weweler / Phoenix

12" eccentric (M16x1,5; R60; 45°)

TOP VIEW
(1:2)

max.15

120 M16x1,5
AIR INLET

12" x 1 Crimped

M8x1,25 TOP VIEW

BOTTOM VIEW
(1:2) :

=110mm
60mm
165mm

Hstat
Hmin
Hmax

[
|
|
|
MAX ¢330 / 8bar
‘ 9345 — SPACE REQUIRED
I

AIR INLET

Cross
Reference

ContiTech
FT 412-32

Firestone
WO01R584062

Springride
2PLY SP1542
4PLY SP2525

Cross
Reference

ContiTech

Firestone

12"x 2
WO1R584073
12"x 2E
WO01R584038
12"x3
WO1R584037

Springride

Cross
Reference

ContiTech

Firestone

Springride
512100




AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

‘R Rubena

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e NCNO/Ib30BaHME

#157,540,2

9228

MAX @330 / 8bar

345 — SPACE REQUIRED

n H
12" x 2 Crimped
M8x1,25
& 4
€
~ 5
- (=}
i
g
Sk
(£
I .
| 5E
| 2
| =
€
T
m5zétq2
228
MAX 8330 / 8bar
| ‘ $345 — SPACE REQUIRED
n -
12" x 3 Crimped
M8x1,25
™
€
€
)
~ o
gl &
HE T
|
N -
e
2 E
0o
oy
n
| =
€
| T
|
|
I
I
I

More using: Gigant Lift, Lohr, Setra SG 175, MAN F 90, SAF axles

12" Crimped

9228

M8x1,25

/)

i

L
|
i ~

#157,5+0,2

$73+0,3

AR INLET

TOP VIEW
(1:2)

TOP VIEW
(1:2)

TOP VIEW
(1:2)

AR INLET

G 3/4
3/4 BSP
AR INLET

BOTTOM VIEW

BOTTOM VIEW
(1:2)

Cross
Reference

ContiTech

Firestone

Springride
S12200

Cross
Reference

ContiTech

Firestone

Springride
512300

Cross
Reference

ContiTech

Firestone

Springride

14%"x 1

L[ M10x1,5

-
~]
™
€ &
£ EE
88!:

Hstat
Hmin
Hmax

<
$282,640,2 0
311 X
MAX 2395 / 8bar g
I $410 — SPACE REQUIRED
More using: Weweler / Phoenix
n M
145" x 2 %
M10x1,5 =
,,,,,,,,,,,,,,,,,,,,,, ﬁ
| E | N |
L
! wn
| -
Ts) IS S
I E|EE
; e
I
| 1 I5|< 5
| 1%
i : 2 I%
| i |
L
|
I
$282,6+0,2 0
¢311 X
MAX 395 / 8bar g
| $410 — SPACE REQUIRED
14%"x 3 "
e
M10x1,5 ol
€€
EE
o Q
0 )
< <
5%
€
EE
WEE
SloN
B
Lle.c
| | |EE
| | T
! skt
‘ llaa
N~
$282,610,2 0
¢311 X
MAX 8395 / 8bar g
I $410 — SPACE REQUIRED

TOP VIEW
(1:2)

TOP VIEW
(1:2)

TOP VIEW
(1:2)

BOTTOM VIEW
(1:2)

BOTTOM VIEW
(1:2)

BOTTOM VIEW
(1:2)

Cross
Reference

ContiTech
FS 614-13

Firestone
WO01R584063

Springride
SP1543

Cross
Reference

ContiTech
FD 614-26

Firestone
WO01R584064

Springride
SP1556

Cross
Reference

ContiTech
FD 614-36

Firestone
WO01R584065

Springride
2PLY SP1558
4PLY SP2526




AIR SPRINGS DESIGN LINE DUNLOP ' AIR SPRINGS DESIGN LINE DUNLOP

‘R Rubena

Note / Pozndmka / 3ameTka

Atypical versions are common for 14 %" and 16" and are illustrated behind 16" dimension.
Atypicka provedeni jsou spole¢néd pro 144" a 16" a jsou zobrazena za dimenzi 16".

HeTnnoBble NpoBeaeHNs IBASIOTCA COBECTHbIMU aas 1415" a 16" 1 OHM n306paxkeHbl 3a paamepom 16"

Type o scheme o usage / Typ e schema e pouZiti / Tin e cxema e NCMNo/b30BaHME

n
16"x 1
M
~)|
M10x1,5 ™ TOP VIEW BOTTOM VIEW
- — (1:2) (1:2)
T H
E | E gl c £
1 15| £S
i8S
.9 =5
I o I % %
; =
| Ee I%
[T
poy
$282,640,2 ©
9311 %
MAX 8430 / 8bar g 1/2 BSP
8445 — SPACE REQUIRED AR INLET
More using: Gigant Lift, Lohr, Setra SG 175, MAN F 90, SAF axles
n
16" x 2
M
~
M10x1,5 N
%{j = TOP VIEW BOTTOM VIEW
N R T . (1:2) (1:2)
‘
) = €
] - EIRG £
| D S
2lecA
1 IEE
| \*5 T é
i : [ y‘y‘ =
| | IT| 11T
! | &S
‘
|
i
e 1/2 BSP
$282,640,2 W) AR INLET
9311 =
MAX 8430 / Bbor g
‘ : 9445 — SPACE REQUIRED

Cross
Reference

ContiTech
FS816-15

Firestone
WO01R584066

Springride

Cross
Reference

ContiTech
FD 816-30

Firestone
WO01R584067

Springride
2PLY SP1557
4PLY SP2536

Type o scheme o usage / Typ e schema e pouZiti / Tun e cxema e 1

M
~]
M10x1,5 N
et £ o
¢ ‘ TOP VIEW
. == (1:2)
|
To) €=
| i
| A [Tolte)
: 5%
! e
| EEE
0| € &
| U5 E
| Tlow
i kN
| T cc
| A I |IEE
| | T
| i Lo 1/2 BSP
1 ga AR INLET
|
¢ I
=
2282,620,2 0
$311 x|
MAX 8430 / 8bar g
K @445 — SPACE REQUIRED
n n
14 74" & 16" - 8 holes and screws
M
z
o M10x1,5
Sl I TOP VIEW
ol s S Y vus M (1:2)
i e Y
T
|
|
|
|
|
|
|
|
! P
- ] I s
N AIR INLET
9282,6+0,2 o
2311 2
O]
£

147%5" & 16" eccentric (M22x1,5; R85; 459)

M10x1,5

18,3

203

TOP VIEW
(1:2)

max.15

M22x1,5
AIR INLET

No/1b30BaHNE

BOTTOM VIEW
(1:2)

BOTTOM VIEW
(1:2)

Cross
Reference

ContiTech
FT 816-40

Firestone
WO01R584068

Springride
4PLY SP2141

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech

Firestone
141" x 2
WO01R584074

Springride




AIR SPRINGS DESIGN LINE DUNLOP = RUBBER HOOPS FOR SHAFT COUPLINGS

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

14 %" & 16" clamping ring with nuts (6xM8) + reinforced plates

Cross
<« 0 TOP VIEW BOTTOM VIEW Reference
| < 4x M8x1,25 5 (1:2) (1:2)
- ContiTech

‘
- e ‘! a | E J—

T

: Firestone

! —

|

|

1 Springride

; —

T

i
8312

42 Reinforced lids can be also modified for the other variants of clamping rings 14 %" and 16" — contact us.
Zesilend vika Ize upravit i pro ostatni varianty upinacich kruhi 14 5" a 16" - kontaktujte nas.
YCINEHHBIE KPBILLIKV MOXHO ajanTUPOBaTh U Ha ApYr1e BapUaHTbl YKPENUTE IbHbIX OMOPHBIX Koseel, 14 %" 1 16" - cBa3aTbes ¢ Hamu.

21%"x 2 -
M10x1,5 o e
: a Reference
‘ y € i
%I ‘ V ////1 = ContiTech
| 2 -
M
I gl .
[ & = Firestone
|
| [ S -
.
l 12 s Springride
| 2 SP1408
Lol
I £
G £ =

$47040,2
$498,5
MAX 8580 / 8bar
9630 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW
(1:2) :

3/4 BSP
AR INLET




RUBBER HOOPS FOR SHAFT COUPLINGS RUBBER HOOPS FOR SHAFT COUPLINGS @Rubena

Rubber hoops for shaft couplings

The rubber hoops are flexible parts of rubberized fabric transmitting the

turning moment in flexible shaft couplings. They ensure smooth running and PLATE
eliminate effects of irregular running of the driving engine. @/"(
The hoop dimensions are given by the mould. Their shapes are shown in ~ 84CK :
Figures 1, 2, and 3 (Model 1,2, and 3) and their informative dimensions are
given in the Table.

The rubber hoops are made from the 31471 Rubber (PN 62 2000) and RUBBER HOOP . !
the viscose fabric according to the TPD 209 Standard. They are intended PRYZOVA OBRUC

for the use within the temperature range from 0 °C to +50 °C. If used at ~ BESMHOBASA BAHAAX
temperatures below zero and above +50 °C the technical parameters of  THRUST DISK l

the coupling change and the durability decreases. The rubber is not resistant PRITLACNY TALIR U$ [
against oils and crude-oil products. The use of the shaft couplings in aggressive ~ APUXUMHAA WANBA
media is not recommended. If contaminated with aggressive chemicals the

hoop should be washed and wiped dry.

The products are provided with the following markings: the name of the manufacturer, the outside diameter (D), the model, the year and
week of production, and the ID number of the moulder.

The rubber hoops are supplied unpacked, mostly in metal pallets or carefully loaded in bulk.

The regulations of the CSN 63 0001 Standard for storage should be observed.

The hoops should be mounted according to the manufacturer’s directions.

The manufacturer does not supplies metal parts of shaft couplings. Informative data for designing the thrust disks and plates are given
in TPD 209.

An order should comprise the quantity ordered, the name of product, the outside diameter (D), number of Technical Conditions and possibly
other requirements (e.g. accompanying documentation, etc.).

Pryzové obruce pro hfidelové spojky

Pryzové obruce jsou pruzné pryzotextilni dily, které prenaseji tocivy moment v pruznych hfidelovych spojkéch. Zajistuji klidny chod
soustroji a eliminuji G¢inky nerovhomeérnosti chodu motoru na pohdnéném soustroji.

Rozmeéry obruci jsou dany lisovaci formou. Jejich tvary znézorriuje obr. - typ 1 aZ 3 a informativni zékladni rozméry uvadi tabulka.
Pryzové obruce jsou vyrabény dle TPD 209 z pryze 31471 (dle PN 62 2000) a viskozové kordové tkaniny. Jsou urceny pro teplotni
rozmezi 0° az +50 °C. P¥i pouziti obruce pod O °C a nad +50 °C doché&zi ke zméné technickych parametri spojky a snizeni Zivotnosti
obruce. Pryz nevzdoruje olejim a jinym ropnym produkttim. Pouziti hiidelovych spojek v prostredi s agresivnimi chemickymi latkami nenf
vhodné. Pri potfisnéni je nutné obru¢ omyt a otfit dosucha.

\yrobky se znaci oznacenim vyrobce, vnéjsim primérem D, typem, rokem, tydnem a ¢&islem lisovace.

Pryzové obruce se dodavaji nebalené, prevazné v kovovych paletach, prepravnich skiinich nebo volné loZené tak, aby se zabranilo jejich
mechanickému nebo chemickému poskozeni, pripadné deformaci.

Pro skladovani pryZzowych obruéi plati ustanoveni dle CSN 63 0001.

MontéZz a udrzbu nutno provadét dle pokyn( vyrobce.

Kovové dily hridelovych spojek vyrobce pryzovych obruc¢i nedodéavé. Informativni idaje pro konstrukci pfitlacnych talift a kotouct pruznych
spojek hridelovych jsou uvedeny v TPD 209.

V objednévce se uvede pocet kusl, ndzev vyrobku, oznaceni obruce vnéjsim primeérem D, ¢islo technickych podminek a pripadné jiné
pozadavky (napf. priivodni dokumentace ap.).

Pe3nHoBble 6aHaXn 4ns CoeanHUTENbHbIX My(dDT

Pe3nHoBble 6aHOaXu NpeacTaBAstoT CO60M ynpyrve pe3nHOTKaHeBble [OeTan, MEePeHOCHLME KPYTALLMA MOMEHT B YMpyrux
coenyHUTENbHBIX MydTax. ObecneunBaloT paBHOMEPHYO paboTy MalUWHbl U YCTPaHST BO3AENCTBME HEPaBHOMEPHOCTY Xo4a
OBUraTens Ha NpYBOAVMOM B AB/KEHNE MEXAHU3ME.

Pa3mepbl 6aHaaxen onpefenstoTcs LWramnom. Tunbl 1 popmbl 6aHaaxen npeacTaBneHsl Ha puc. 1 — 3, 1 CNpaBOYHbIE OCHOBHbIE
pa3mepbl NPUBELEHbI B TAGANLLE.

Pe3nHoBble 6aHmaxw 3rotaBanBaroTCs cornacHo ctangapty TPD 209 u3 pe3udbl 31471 (no ctangapty npeanpustus PN 62 2000)n
BWCKO3HOW KOPA0BOW TKaHW. [peaHa3HaueHbl aag paboThl B gnana3oHe Temnepatyp ot 0 °C o +50 °C. [Mpy ncnonb30BaHuy 6aHaaXen
npv Temnepatypax Hmwke O °C nam BbiLLe +50 °C nponcxoauT N3MeHeHUe TEXHNUYECKIX MapaMeTpoB MydThbl, 1 YMEHbLLIAETCS CPOK CNYK6bl
6aHaaxa. Pe3nHa He 9BgeTCs yCTONYNBOW K BO3AENCTBIIO Macen n  Apyrux HepTenpoayKTo.. Vicnosb3oBaHne CoeauHUTENbHbIX MydT
B Cpefax C arpecCrBHbIMY XMMUYECKUMM BELLLECTBAMMN He pekoMeHAyeTcs. [pn 06pbi3riBaHuy 6aHoaXka TakvMy BeLLLeCTBaMm ero
Heo6X04/MO OMbITb 11 HACYXO BbITEPETD.

M3nenums 0603HaueHbl 3HaKOM 3aBOa-MI3roTOBUTES, HAPY>KHbIM AvameTpom D, Tnom, rogoM, Hefenei 1 HOMEPOM MPECCOBLLMKA.
Pe3nHoBble 6aHaaKM NOCTaBAAOTCS 6€3 YNaKOBKY, B OCHOBHOM Ha METa//IMYECKUX MO L0HaX, TPaHCMOPTHBIX SLLIMKAX U1 B CBO6OAHOM
COCTOSIHUM TaKuM 06pa30M, UTO6b! 6bI/I NPEAOTBPALLEHD VX MEXaHUYEeCKUEe UK XUMUYECKVE NMOBPEXAEHNS N AedhopMaLLi.
CrknagypoBaHue pe3nHOBbIX 6aHOaxXel OCyLLLECTBASETCS COIacHO Yellickomy ctanaapTy YCH 63 0001.

MoHTax 1 yxo[, He06X0AMMO NPOBOAUTL C COBNOAEHNEM YKa3aHWA 3aBOAA-U3rOTOBUTENS.

MeTannuyeckune netany CoefuHNTENbHBIX My(dT 3aBOA-N3roTOBNTENb PE3NHOBLIX 6aHaaxel He nocTasnseT. CnpaBoyHble faHHble Mo
KOHCTPYKLN MPYXUMHBIX LLIANG 1 NoAyMydpT COeaNHUTENbHBIX My(dT NpruBeaeHbl B cTaHaapte TPD 209.

B 3aka3e Hafo NpuBeCTy KOMYECTBO, Ha3BaHWe N34,en1s, 0603HauYeHre 6aHaaxa C Hapy>XXHbIM guameTpom D, HOMep TeXHUYEeCKMxX
YCNOBUI 1, NPU HEOHXO4MMOCTU, Apyrie TpeboBaHNS (Hanp., NPeablayLLYyt0 AOKYMEHTALUMIO U T. M.).



RUBBER HOOPS FOR SHAFT COUPLINGS RUBBER COMPENSATORS

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

% w1 % T3

#D

The hoops are radially divided (except for Typ 3). / Obruce jsou radidlné délené (kromé obruce typ 3). / BaHgaxuv nMetoT paananbHyo INHKO
pa3béma (kpome baHaaxa Tuna 3).

Dimensions / Rozméry / Pa3mepsl

Mtq - Ratedturning moment transmittable by the coupling at permanent dead load / jmenovity tocivy moment, ktery m(iZe spojka prenaset
pri trvalém neproménném zatiZzeni / HOMWHaAbHbIN KPYTSLLLMA MOMEHT, KOTOPbIN NepeaaéT MydTa Npu MOCTOSHHOW HEN3MEHSIEMOiA
Harpyske.

Mty - Experimentally determined turning moment of the coupling at which a slip between the rubber hoop and the metal parts of the

coupling occurs / tocivy moment spojky stanoveny experimentalng, pfi kterém z divodu koeficientu tfeni dojde k vzajemnému
prokluzu pryZové obruce a kovovych ¢asti spojky / ycTaHOBNEHHbI KCNIEPUMEHTANIBHO KPYTALLMIA MOMEHT MyTbl, NPy KOTOPOM,
13-3a OrpaH1YeHns o KO3 MULMEHTY TPEHNS, TPON30NAET NPOCKa/b3blBaHNE 6aHLaXa N MET/INYECKNX YacTen MydThl.

Mtz - The highest permissible turning moment transmittable by the coupling at sudden, short term overload without damaging the hoop /
nejvyssi dovoleny tocivy moment, ktery méze spojka prenédset pri ndhlém kratkodobém pretizent, aniz by do$lo k po3kozeni obruce /
MaKCMasbHO [0MyCTUMBIN KPYTALLLMIA MOMEHT, KOTOPbI MOXET NepefasaTtb MydTa npu pe3koil KpaTKOBPEMEHHO neperpy3ke
6e3 noBpexaeHns 6aHaaxa.

Nmax — Maximum coupling speed / nejvyssi dovolené otacky spojky / MakcuManbHO A0MyCTUMas YacToTa BpaLLeHns MydTbl.
Hoop Diameter d h t R1 Rz b Mt Mt2 Mts Nmax Wheight Informative
Obrué Informative Speed P¥iblizna hmotnost
BaHpax Inform. Otacky MpubnmxeHHas

oD WHcpopm. OTaukbl XMoTHOCT
[mm] [mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [Nm] [Nm] [Nm] [rev./min] [ka]

Hoop - TYP 1/ 0BRUC - TYP 1/ Pe3utosas 6aHaax - Tuna 1
125 75 42 10 2,5 3 4 63 210 430 3000 0,2
160 90 56 13 3 4 6 100 130 750 3000 04
178 100 66 14 6 4 5 70 110 200 3000 0,5
200 122 68 16 2 4 10 250 425 1600 2500 0,8
250 160 70 17 5 5 85 630 1200 2500 2000 1,1
315 204 86 22 8 10 8 1250 2900 4000 2000 18
360 255 88 19 6 3 10 | 2500 4700 5350 1600 2,1
400 290 94 21 6 3 10 | 4000 7500 13160 1400 2,7
450 285 126 28 10 15 17,5 | 6300 12 000 18 000 1250 53
490 280 142 26 4 3 20 | 2900 6200 8700 1200 7.1
560 314 | 196 38 12 15 23 [12500| 13500 25000 1000 14
630 360 | 234 47 12 12 30 [15000| 18400 30000 900 25
710 400 | 260 55 15 20 22 [18000| 23000 36 000 800 35

Hoop - TYP 2 / OBRUC - TYP 2 / Pe3nHoBas 6aHaax - Tuna 2
259 [169 | 71 [ 177 [ 8 | 5 | - [200 ] 1000 | 830 | 2000 | 1,1

Hoop - TYP 3/ OBRUC - TYP 3 / Pe3uHoBas 6aHaax - Tuna 3
397 [ 280 [ 104 [ 20 | 10 | 6 | - J1o70] 4000 | 4400 [ 1600 | 25




RUBBER COMPENSATORS ' RUBBER COMPENSATORS

‘R Rubena

Purpose - Advantages

— To compensate axial, lateral and angular movements.

— To noise and vibration absorption.
— Shaped bead with hard rubber reinforcement ensures safety against slipping out of compensator flanges at terminal positions under

conditions of alternating stress.

Urceni - Vyhody

— kompenzace axiélnich, lateréinich a angularnich posuv,

— tlumeni hlu¢nosti a vibraci,
— tvarova patka s vyztuhou z tvrdé pryZe zajidtuje u kompenzéatoru bezpecnost proti vysmeknuti z prirub v maximéalnich polohach pfi

cyklickém namahani.

Ha3HaueHune — [penmyLecTsa

— KOMMEHCALLS aKChabHbIX, GOKOBbIX 11 YITIOBbIX MEPEMELLLEHUI,

— [NyLLeHVe LUyMa U raLleHne BuopaL/mi,
— (haCOHHbIV 6OPT C apMUPOBKON 13 TBEPLON PE3VHbI NMPELOXPAHSAET KOMMEHCATOPbLI MPOTUB BblAEPTMBaHNS 13 (DaHLEB B KPaHNX

MONOXXEHNAX MPY LIUKANYECKOMN Harpy3Ke.

Types of Movements and compensationcapability
Druhy posuv( a kompenzacni schopnost
Tunbl NnepemeLLLeHnin 1 KOMMEHCaLMOHHbIE CBONCTBA

angular / anguiérnf/yrnosoe

axial / axidlni / akcranbHoe
+100

+30 mm

Rubber bellows, mediums, pressures, temperatures, marking
PryZové vlozky, media, teploty, znaceni
Tunbl NEpEMELLLEHNI N KOMMEHCALMOHHbIE CBONCTBA

Temperature
Teplota Colour marking
Medium / Cpepa Temnepatypa Barevné znaceni
LiBeToBOE 0603HaueHNe

Design / material
Provedeni / material
WcnonHexne/matepuan

no marking
1/EPDM - bez oznacenf
6€3 0603HaueHNs
dry or water containing subacid foodstuffs, alcohol double white
2/CIR pitné voda, suché nebo vodu obsahujici slabé kyselé potraviny, alkohol - dvajity bily pruh
NNTbEBas BOLA, CyXO€ WK BOAY COAEPXKaLLIE CNaBOKUC/bIE MULLLENPOAYKTbI, aAKOrO/b) 6enas nonoca
yellow

3/NBR oil product / ropné produkty / HedpTenpomykTbl -40 70 Zluty pruh
XKENTag nonoca

Max. working pressur
Max. pracovni pretlak

Makc. naeneHve 0°C 50°C 90°C 110°C
[MPa/bar] - [MMa/6ap]




RUBBER COMPENSATORS ' ELASTIC PADS

Type o scheme o usage / Typ e schema e pouZiti / Tin e Cxema e NCMNo/b30BaHne

Dimensions / Rozméry / Pa3mepsl

DN D1 D2 | Counter flanges Weight
Protipriruby Hmotnost
[mm] [mm] [mm] [mm] Tunopa3vep (naHLeB Macca
[mm] [Mm] [mm] [mm] [MPa/bar] / [MMNa/6ap] [kg] / [kr]
40 150 110 130 16/16 38
50 165 125 130 16/16 52
65 185 145 130 16/16 6,5
80 200 160 130 16/16 7,6
100 220 180 130 16/16 8,7
125 250 210 130 16/16 99
150 285 240 130 16/16 11,6
200 340 295 130 1,0/10 15,5
250 395 350 130 1,0/10 17,4
300 445 400 200 1,0/10 34,0
350 505 460 200 1,0/10 47,5
400 565 515 200 1,0/10 415
500 670 620 200 1,0/10 57,5




ELASTIC PADS ELASTIC PADS

‘R Rubena

ELASTIC PADS DESIGN LINE VOSSLOH
FOR BASE OF THE RAIL IN NON UNDERLAY FIXING

PRUZNE PODLOZKY TYPU VOSSLOH
POD PATU KOLEJNICE V BEZPODKLADNICOVEM UPEVNENI

YNPYI'blE NOAOCTABKN TUTMA VOSSLOH
Mo/ NOAOLUBY PENBCA B YKPEMIEHWW BE3 MYTEBOV MOAKIALKM

Determination of the product / Uréeni vyrobku / Ha3HaueHble uspenus
The elastic pads the rail are determinated to resilient seating of rails in non underlay fixing VOSSLOH.

PryZové podlozky pod patu kolejnice jsou urceny pro pruzné uloZeni Zelezni¢nich kolejnic v bezpodkladnicovém upevnéni VOSSLOH.

Pe3nHoBble noacTaBky No4 NOAOLLBY penbca Ha3HaYeHHble A5 YNPYrov yCTaHOBKY XeNe3HOLOPOXHbIX PE/IbCOB B YKPENIeHU 6e3 nyTeBoi
noaknaakn VOSSLOH.

Structures’ realization / Konstrukéni provedeni / KOHCTPYKTUBHOE UCMONIHEHUE

The pads in realization of Rubena respects requirements of loading chamber of those fixing. Structure of resilient part is original solving of Rubena
Company.

Podlozky v provedeni Rubena respektuji vnéjsim tvarem pozadavky na zé&stavbovy prostor daného uloZeni, konstrukce funkéni pruzné ¢ésti je
originalnim reSenim a.s. Rubena.

MoncraBka B npoBeneHnn Rubena (Py6eHa) cobatonatoT Hapy>KHOM hopmoi TpeboBaHWs A5 YyCTaHOBOYHOrO NMPOCTOpa OaHHOWM yKaaaKu,
KOHCTPYKLMS (DYHKLMOHAIbHOM YMNPYroi YacTu SBSETCS OPUTIHa/IbHBIM PELLIEHNEM aKLMOHEPHOTO 06LLlecTBa Py6eHa.

Material / Material / MaTtepuan
Pads are made from high quality compound developed according to severe requirements for product. Compound is long time resistant to weather
conditions without loss of elastic characteristics and electro insulation properties.

Podlozky jsou vyrobeny z vysoce kvalitni chloroprénové pryzové smési, vyvinuté speciélné dle naro¢nych pozadavk( kladenych na vyrobek. Smés
je dlouhodobé odolna povétrnostnim podminkam bez ztraty pruznostni charakteristiky a elektro izolacnich vlastnosti, témér nepodléhd ozénovému
starnuti.

[MoacTaBKy M3roTOB/IEHBI U3 BbICOKOKAYECTBEHHON XﬂOpOﬂpeHOBOIﬁ pe3I/IHOBOIZ cmecn, pa3pa60TaHHO|7| creumnanbHo COrnacHo € HENErKumMmn
Tpe6OBaHI/IﬂMI/I, BO3/10>XKEHBbIMW Ha nsaenuve. Cwmecb A0/TOBPEMEHHO cTomnkas npoTne aTMOCd)eprIM yCNoBUAM 6e3 nortepu ynpyr0|7| XapaKTepUCTUKnN
N INEKTPON3ONALNOHHBIX CBOWCTB, NOYTW HE NO4,0aBaETCH CTapEHUKO BINAHNEM O30Ha.

Properties of pads / Vlastnosti podloZky / CBolicTBa nog,cTaBKu

Pads fulfill all reuired physical, mechanical and electro insulation properties according to prescription for resilient pads for base od the rail in non
underlay fixing issued. (for WU-7; 57045/96-S13).

Podlozky spliuji veSkeré pozadované fyzikalné mechanické a elektro izolacni vlastnosti dle OTP pro pruzné podlozky pod patu kolejnice
v bezpodkladnicovém uloZeni. (pro WU-7; &.j. 57045/96 - S13).

lMofCcTaBKM NCMONHAIOT BCe TpebyeMble hN3NKO-MeXaHNUeCKne N 3N1eKTPOU30SLNOHHbIE CBOMCTBA B COOTBETCTBUM ¢ OTP /15 ynpyrux noacTaBok
nog, NofoLLBY pesibca B yKpenaeHun 6e3 nytesoi noaknanku. (ans WU-7; Homep 57045/96 - S1).

Properties of pads were certified by indipendent examiners / Vlastnosti podloZek byly ovéreny nezavislymi
zkuSebnami / CBoiicTBa Noa,cTaBOK NPOBEPW/IN HE3aBMCUMMbIE UCTbITaTe/IbHble CTaHLLUU
Commercial Railway Research in Prague — elasticity characteristics.

Komeréni Zelezni¢ni vyzkum Praha - pruznostni charakteristika.
Kommepueckoe xene3HoaopoxHoe uccneposanue r. Mpara - ynpyrasi xapakTepucTuka.

EZU Prague - electro insulation properties.
EZU Praha - eletricko-izola¢ni vlastnosti.
ZU r. MNpara - 3/1eKTpon30/L,MOHHbIe CBOINCTBA.

Pads succesfully underwent examinations in laboratory of the firm VOSSLOH in Germany.
Podlozky ispésné prosly naro¢nymi zkouskami ve zkusebni laboratori firmy VOSSLOH v SRN.
MoacTaBky Bbloep>kanu yCneLHo TpeboBaTe/bHble TeCTbl B UCMbITaTeIbHON la6opaTtopun dmpmbl VOSSLOH B SRN.

Properties of those pads were also examined in examining section of frequented railway track.
Provozni vlastnosti podloZek byly také Uspésné ovéreny ulozenim podlozek ve zkusebnim tGseku frekventované Zelezni¢ni trati.
Pa6oune cBoncTBa NoACTaBOK 6bIAV TOXKE YCNELLHO NPOBEPEHbI YKNAAKOM NOACTABOK BO UCMbITATE/IbHOM YUYacTKe OXXVBNEHHOW XXeNe3HOW J0POri.



ELASTIC PADS = CGS HOLDING ® Rubena

Informative drawings of the pads / Informativni vykresy podlozek CGS'S Bra nds Prod ucts
VIHchopMaLWOHHbIE PUCYHKI NOACTABOK. i / _
Subsidiaries & Services

O IR ’
;Ll_l NN NN l_u_, = -
| | Milas
/NI &I\, :
| % % Vé \F‘: \?: \F‘: \é \% | fa * Agricultural Tyres _ _ _ )
| | o Multipurpose, Earthmoving and Forklift Tyres, Earthmover, Crane, Multipurpose and Industrial Tyres
| | ~ o Motorcycle Tyres
I ;‘;’: :X: = % % % == l To) I o Truck Tyres
: M MM : A o Aircraft Tyres
: UMMM : < Milas 1 nfald  CultorC
A A A A A AAIA
| f !
|| L
o BRAVVUUVUL 5 . Savatech
L L ‘ K e Rubber Compounds
o Conveyor Belts
» 174 - 7 |l o Rubber Profiles

o Offset Printing Blankets

o Environmental Protection & Rescue Products
e Tyres for scooters, mopeds, motorcycles

e Moulded Products

WS -7 ‘R Rubena

e Rubber Compounds

o \/-Belts

e Rubber Moulded Parts

e Rubber to Metal Products
e Sealing Elements

e Silicone Products

o Air Springs and Power Elements
e Rubber-Coated Rollers

e Rubber Dams

o \Waterwalls

e Bicycle Tyres

e Bicycle Tubes

e |ce Hockey Pucks

@Rubena & SicoRubena

1l
-

152

e r

L

AN AN AN AN AN NN

™)

/) Anlikor

o Chemical vessel rubber coating

G

e Curing moulds and testing

~
o
~J

CGS HOLDING a.s.
Svehlova 1900
106 00 Prague 10
Czech Republic
www.CGS.eu



